SuMPO v Third party verified

‘ E p D Environmental Product Declaration
9

JAPAN Confromance with

VERIFIED 1ISO14025 | 1ISO14040 | 1ISO14044
SUMPOEEEINIL OS5 s (SUMPO EPD)

= EHtEIEZ KA1
Sh’ﬁ//j///%tsu Shin—Etsj_ChemicaI (:Z:o., Ltd.

BaI-712J% (HPMCP)
Enteric coating agent (HPMCP)

BEHES RILE1EHE NS IREER ZhHAME EPDY1T
SuMPO-EPD-2604-133-1 2026/4/7 2026/6/17 2031/4/6 BH—8ISEPD
KEFSNEIBAISHIRARE
EAOEHER EPDIRIEHIRI CHo T, EF L RABNHRILL RBIEFBYETS,

EPDORHIRE LU B EZRER S B(CIXU T ERRLTESY,

15021930:2007 https://ecoleaf-label.jp/epd/search



SuMPO

HES) SUMPO-EPD-2604-133-1 E P
Environmental Product Declaration for Enteric coating agent (HPMCP) .. o o

VERIFIED

@ E KB
>F0J5 L1558
TOUSL%HR SUMPORRIEINIL SOV A
TOISLARL-F-  —BAEEATATH IR EHEERE
FriE#s EREAB TR HEXAM#HET-14-8 KANDA SQUARE GATE 4F
D179k https://ecoleaf-label.jp

> GPI-PCRI&%

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE&FR LIV O-2FGHE (PRaE)
PCREHES PA-161600-CP-02
PCRZRE H 202564108

Lea-KRIVEER (FTE) #HLEEF (ARSKIII0)
PCRAE ZhHARR 203046891

PCREITE —REFEAY AT IR S HEERE
> MR EER
ISO14025 % U'IS021930:2007 [ Hé -1 58 = E AR EF
" 0 WER W A
RAL OB g REALLS [ REMEICLS | EPDYRT LRI
B =H MR B =R (C&kB5E=FMRE

REEXIEE (FTE)  LiRHE (KAt B RFR)

> EHLIRIE
B 1SO14040:2006 B 1SO14044:2006 0 1SO14067:2018
AEYLIRE B 1SO14025:2006 B 15S021930:2007 0 1S021930:2017
0 EN15804+A2 [0 EN50693:2019 0 ISO/IEC63366:2025

EPDICEEHDOIBER KR UEPDICRRBEDIBERICE T ZRIE T RICOVTOERSEPDIEG FEENMFEET, EPDONRICET B RA R, HERFEOWNT
(3. EPDEVSEEELTEMVEDERIN,

EPDOLLEIS, BERAROEEE+2ICERLUL LTEESNATNERS BV, BERHURICBIZEMOII IV 2AEZ R, BRERICHL
TRZ0ABRERELLYFTUAZERLTVZLENHYET, EPDOLLBOKBRICEBINERGFAESMERTEPCRESBL LI,
EPDO LB A REME (S, HEBE I ZEALTWAEDICRESNZET,

BIEZETMEREHETEMNERETT, BEOASSICLVRBEAOZEE—HITERITONIEOTEHYE A, £lc. EELEBERREA
DEGNBREORSSPREE RMEEZBRLTVWANE) ( YAVFHE (REPABICENEIOZEEREINE) 2EERTEOTEHYEEA,

MEFHZAVLEEDH S, 1T INEEFMERRUITM I INAIRY M S IBERR. FREYEEER. HNJ70-CETREER
F A FEOHRIOVTOBERTREDYEEA.

@EPDEVISEE£EEIR
BEEL BES EHtZIEGRRASHE BHEREEDD
EFT ERHATREBXAON—T B4E1S HORKECNTVY
FVWEhE L E:E 03-6812-2441

LCAEEXEE (FTE) EHtEIEKASH
EHZTER. BCDIV-mEY-YE070LT7IVAY, FEEBYYIVITN, YYUI-
EEEME V. BF MR EERL EHOBTHRMNIROVITERD, CIO-AFEEFEEFEN
(TR ELEA-N—,


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

Z$7ES) SUMPO-EPD-2604-133-1 SuMPO

JAPAN

VERIFIED

Environmental Product Declaration for Enteric coating agent (HPMCP) .. E p D

@& MBI
B LR A I-T1vJ% (HPMCP)
LRI LitEa HPMCP
SIS BYHRROTIO-AZERIGSERIETELNEIR
o HEEE  1kg mERK -
REER  poome EuEm (sERE
FArikse -

FH 85 3FER
M AAEHK EREH EELNNE A&
EHERELLRR B (REFEARS
2T Mk (BENR) BIEIH
HPMCP(Z, EERMLEFEREFERINZRHRBTHY., EIBBEI-TAVJBIERS
n3,
KEITTHA R https://www.metolose.jp/

SR

O RUMEICET B ESR

BOERER EE (%) HE
I O-AZFEEK 95.0 -
7K 45 —
BrELENBAST-BIERY 0.5 -
DEMBRER EE (%) ==
BEOERR 100.0 -
OEYHKRIRESEE
IEH X A(CRO) &8 (kg-CO: eq)
HEHEYOEYHRKEZSEE 042 1.55

RHTICOLZBEEMOEYHRRRREFE - -


https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/
https://www.metolose.jp/

B3| ES) SUMPO-EPD-2604-133-1 SuMPO

Environmental Product Declaration for Enteric coating agent (HPMCP) '. E P D

JAPAN

VERIFIED

OLCA BSE B
>EPDY1 154k
EIL1T H E—fE O I -Tag% O ZEFRWUM
EPDYAS  HARIAT B FEYMh O #BHEYAH
FRAE B SEE O JIEFHE O REE O LR{&E
Hh 2 A4 3 B J0-1\b

EREm/ERYMEEE
EPDICHIF B F MDA
BHEG/EBTIEED
EPDICHITE. EEMRERD —
FTFIRICRIY 35%R

BEHHEMEPDOEA  —

> LCARSEIE$R
TE B4 kg
EEHMYEYDES
(BEADEEREK)
HHEID- (BeEBEMEmiIrsdlis
EHREGE)
IATLER B Cradle-to Gate [0 Cradle-to-Gate with options | [] Cradle-to-Grave
LCAYTRITT MiLCAv3.1.1.0
LCIT=9R-A AIST-IDEAV3.1
L ETIV SURZH) : IPCCHESREHMMIR S E(1PCC,20134F) . ZOMDFZEMEE, : LIME2
ZOMONYIIZVIRT-5 L
ZRF-IRE GPICHREDZRT-IREEH LT AV TEEEIT .
—RT-HINERSE  ETERITH
—RT-FUNEEAR]  2024F4H ~2025%3R
EYHBFRFEORYELN W 0/07S0-F O -1/+1770-F
& B EPHBOFHINERENIVIA O Z0ft
BHENIC L -
EEERAN BAH -

RETT |-
> B TE X SR ERBE

{5 F B B i
P> Up== i29 T i29 72 JU T 5
EMELERRE i TER B G pT— PRARER B .
Al | A2 A3 A4 A5 Bl B2 B3 B4 B5 B6 B7 Cl C2 C3 C4 D
B T 3 T . & B L
= = * f# 3
Mo % % i3 [ v e =z | | ZE #
g "] AN B OF R B EFE ® v om /I 7 g
n o & o I B & B #IHm B | S O L o0 -
ECI L) £ . = woOBE W0 1&
. s s / . 3
E % 3 P % B L
a8 B - | -|-|-|-=--=-=-1-1-=--1-1-1l-

WO EENER - HENRS



SuMPO

JAPAN

VERIFIED

BHES) SUMPO-EPD-2604-133-1
Environmental Product Declaration for Enteric coating agent (HPMCP) .. E p D
>707-v3y
AEETE. GPICEHOFIETTOC A ML L0707 -V avE&sTLE,
BETRRTIE, FREERUANOERNEEINZEOD, TOCAOMHLICEZTOT -3V EIEARE# THB,

[T, TN O-ARRPEHFORA R, 1-T1UT1. DEEM, BIEM . BEHITHLT
SEEBICLIYEETOT-VaVEITO,

>AYLAT
DY RATRELTOERL,

>YATLIRR

PCRICEDEHREEITOI,
BRIV AT LIER(E100FE TH S,

>IFUA
EJ31-) SRR

A2 PIVO-RREE ERF OFEICHT 5HE FER. BEK(CPCR B ZBO#NXY FUAZERLTE,

A3 DEEMORESSVREYEIX(CHIPHIXETFER. EHZEICPCR MEEBOEIEYFUAZERLL,

>BHEFYVY

WRETZETDIMIVMTIERBECHE VT, 2018FE(CHITZHAFHORBKENDT-I AV TEEETOL,



Zi%%ES) SuMPO-EPD-2604-133-1

>3179147)70-K

A1-A3 EM BIEERRE :

Al R R ERE

A2 TIBEADEHX

( wvo-2EH

./

A4

Lrpes

A3 &£

(mman ) (man )
v v

X Bix

v '

( =ms

/

A4

X

A\

I O-RFEHL/ R
!
s/ A
iR
!
B

l
ar

~( eno-zms -

RZEY

LIRES
v
BRI

ZREHM RERBHSH - HE




FiRES) SUMPO-EPD-2604-133-1 SuMPO

IAPAN

VERIFIED

Environmental Product Declaration for Enteric coating agent (HPMCP) .. E p D

OETERR
>S1TY1 IV EFHER R
v KA]EMRIDT o _ _ ==
(AR ROREE B TORE [A3) & Z0RE D EFH
SUEZ & kg-CO.eq = 1.05E+01 | 5.19E-01 | 3.32E+00 - - -
AV B IE kg-CFC-11eq 1.13E-06 = 1.11E-12 = 7.37E-07 - - -
[7ye(e kg-SO.eq = 1.09E-02 = 5.04E-04 = 3.34E-03 - - -
HACEAF VI INER | kg-CoHseq = 1.79E-04 = 1.74E-06 = 6.00E-05 - - -
BREL kg-PO.*eq = 5.66E-05 | 5.71E-12 = 5.13E-05 - - -
>F1TH1 AR M 53 BEE B R
e (AJEFEIOT P _ _ »
(AIRHHOBE © o i (GR)ET0ES D ERHA
FEBERRREIR kg = 4.55E-01 4.87E-07 6.68E-02 - - -
FEEAREIRIY- kg | 5.09E+00 1.61E-01 @ 1.20E+00 - - -
FEEERREIRIY- MJ | 2.18E+02  7.22E+00 @ 4.94E+01 - - -
BERRER kg @ 9.74E+00 1.53E-07 @ 6.67E-02 - - -
BERTEEIRILY- MJ | 1.33E+01  1.73E-04 | 1.92E+01 - - -
HRKDHE m® | 1.43E+00  8.87E-06 @ 5.03E-02 - - -
> BEZEYBREERR
v (A]EMRIDT o _ _ =
(amHroEE = i [A3) & Z08E D EFRAH
BERZEY kg | 0.00E+00 0.00E+00 = 0.00E+00 - - -
BERZEY kg = 1.31E-02 = 3.43E-08 @ 2.62E-03 - - -
—RREEY) 1BIY) kg = 2.84E-09 @ 5.48E-17 @ 9.35E-10 - - -
EXREZY 1By kg = 131E-02 = 3.43E-08 2.62E-03 - - —
KIMTHMIWICBII2BEEDELRLTIVET,
> WD I0-ICBET2RIEER
winzme (ALJRMEIOT P _ _ .
(amHROmE = e [A3) BB DBE D EFR4
B FARTRE R AR M kg - - — — — _
UMV R kg - - — - - -
IIF-EUXAM R kg - - - - - -
BEEODoOFEHIRIF-

(IRIVF-EUZHE =2 60%)
REVORH | gmmyiminsg | kg - - - - - -

(TRVF-EURHE \
< 60%) @WI*“/:F‘_ MJ - - - - - -

sy BRMEIANE | kg - - - - - -

(EEYOELCLYFET
1B HANSOIRIF - .
SETHANSOTFNF-E| oy e M) _ _ _ _ B B

%)



SuMPO

FiRES) SUMPO-EPD-2604-133-1

JAPAN

VERIFIED

Environmental Product Declaration for Enteric coating agent (HPMCP) .. E P D
> LCARERRCET 55

TN O-ZARRBLUEXZFICEL T REMRIZRT-F&ERLE,

- R DT, ik - e TERBE A B F B E X R

IVO-ARRIE R OFEICE S 2 8xF R, HE(CPCR EEBO&IE Y FUAZEALL,
-BEREMOFESSUEEYEEICEI2EEF R, BHELPCR WESZBOIXY T UAREALL,

Q@ ENNIRIEHEIR
> LCAICEIEL ALV EINERIEEIR

ISO14001F2AEEVIS TIHTEELTVET,

>HEVHICEATSER
HEVEL CAS No. BAINSEEILIRFOSR

EMBELVERE BN SOERYE DK

@ E Xk

-1SO14025:2006 Environmental labels and declarations — Type lll environmental declarations — Principles and
procedures

-1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
-1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+ISO 21930:2007 Sustainability in building construction — Environmental declaration of building products

O FTERE



	1 
	2 
	3
	④-2

